2.046

o

5

HEMNEB—ST]

HENGYIPNEUMATIC CO., LTD. e

A =R Specifications

£142(mm)  Bore 1216 [20]25[32]40] 50] 63] 80 [ 100
MPEE I Action model WEE Double action
T &£/ & Working Fluid =5 Air
T EESIMPa
Working Pressure range 0.1-0.9
if [EMPa Proof pressure 1.35
TR EC Working temperature 0~60C
TEEEMmM /s
. 30 ~ 500 30~350 | 30~250
Working speed range
£ mAE K Cushion type E E R Fixed cushion
1% 112 Port Size M5x0.8 | pri/8 [ PT1/4 | PT3/8
B S Symbol
SDAT SDATS — —

m m 1772 Stroke2 |

#

A iTH% Order Code

TF1  Strokel
B Origin
= BN BL
. Blank:Female thread
i SR B:oMELL
Rod end style —B:Male thread
N: T 4240
N:No thread
7122
Stroke?2
1711
Stroke1
FKES
Bore
- =N
ﬁfﬁﬁ:ode S:With magnet
9 Blank without
magnet
_ . SDAT: W& % i & &
y
/z_‘\’](jt’i%ft o | SDAT:Double Action/
yp two stage




%7l

Series
A R ERSEH Internal Structure
V | |/
| /| [}
1 T L4 S :
I . an|
R ——
. I
o N — N -
—J
7—’—1
FSNo. B Part name FSNo. B Part name
1 E 2 H#Bolt 9 SHFEEE Muffler
2 Ja% Headcover 10 EJEE Base
3 7L A M #BSpring backstop 11 BifE# F Cushion rubble
4 Bl /R 2O B Cylinder gasket 12 #IL{& Cylinder body
5 SHZEPiston 13 7% Rod cover
6 SHEEFH EPiston seal 14 B % & H ERod packing
7 & # / Cushion rubble 15 JEZEAFPiston rod
8 JEZEAFPiston rod 16 2 Nut
WiE(mm) Bore 12 | 16 | 20 [ 25 | 32 a0 | s0 [ 63 80 100
EARYS Cylinder body {BE5e Aluminum alloy
AR Piston HER Aluminum alloy
JRET Piston Rod ERN(EERTELIR) Steel(industrial chrome plated)

SEEZE B Piston seal

NBR

BI& % 3# B Rod packing NBR

Bi4E# i Cushion rubble NBR

&5miA  Bush &M R AT Oilimpregnated bearing alloy
BIE Rod cover HE® Aluminum alloy

5% Head cover BEE Aluminum alloy

£ Base BE® Aluminum alloy

# % Magnet 530 Spring steel

7L F3 3 # £ B Spring backstop B Rubble

HYC
HYCD
HYCJ
HYCT
HYC
MBB
QGA(B)
CA1
CS1
DNC
SDA
SDAD
SDAJ
SDAW
cas
cQ2
ADVU
MAL
MSAL
MALD
MALJ
MAL
MA MAC
MSA
MAD
MAJ
MAR
MA
CcJ2
CM2
DSNU
cu
N
CXS
CXSW
MGP
CJP
CY1B(S)
MH
ZH

2.047



HEWVE E—SI) -

A 5MESR~HZE %) Overall Dimension(mm)

SDAT. SDATSZ! SDAT SDATS Series

$12~616
A+(fTHE1x2+17H82) A+(Stroke 1x2+ stroke?2)
_ |1, CO+(f7T21x2+1722) CO+(Stroke[ix2+ stroke?2)
o M| | C1+(fTR1+1782) Ci+{7H21
=7 o C1+(Stroke1+ stroke2) C1+StroKeT
P
21
i
o 5
2ThiCI§>
$20~¢ 100 K1 Depth E
g R A+ (778 1x2+17#22) A+(Stroke1x2+ stroke?2)
T M_| Ni 3-0_ Nt
=l ,
o —ole o]
\
w ] =
2T v,
2 Thick f’_§P4 P4
A&
%HE@E&;ﬁ%E%KeZ)
B1 CO+(f7 2 1x2+17182)
CO+(Stroke1x2+ stroke?2)
ﬁE/:‘chType #rARIStandard Bt 8% B With magnet b L E» - s K1 . vl Nl s
K& Bore A | B1|CO|[C1| A |B1|CO|C1 i <10Stroke<10[f7% > 10stoke > 10
12 39 5 34|17 | 59 5| 54| 27 - 6 4 1 M3x0.5 | 10.2 3 6.5 6
16 4251 55| 37 |18.5|62.5| 5.5| 57 |28.5 - 6 4 1.5 M3x0.5 i 3 7.2 | 6.5
20 445155| 39 [19.5|/64.5| 5.5| 59 |29.5 36 8 4 1.5 M4x0.7 16 3 7.2 -
25 48 | 6 42 | 21 68 6 | 62| 31 42 10 4 2 M5x0.8 17 3 8 -
32 56 | 7 49 |24.5| 76 7 | 69 [34.5 50 12 4 3 M6x1 22 3 9 -
40 59 | 7 52| 26 | 79 7 |72 36 58.5 12 4 3 M8x1.25| 28 3 10 -
50 65 | 9 56 | 28 | 85 9 | 76 | 38 71.5 15 5 4 M10x1.5| 38 4 10 -
63 73 19 |64 ] 321 93 9 | 84|42 | 845 15 5 4 M10x1.5| 40 4 1115 -
80 93 |11 | 82| 41 | 113 | 11 | 102]| 51 104 14 20 6 5 M14x1.5| 45 4 13 -
100 114 112 |102| 51 | 134 | 12 | 122]| 61 124 18 20 7 5 M18x1.5| 55 4 16 -
H 1% Bore O P1 P2 P3| P4|R| S| T1|T2 U |V IW|X|Y
12 M5x0.8 | ¢ 6.58 4 Thread M5i@&7LHole: ¢ 4.2 - 1245 - |25]162[ 23] 16]6]5] - | -
16 M5x0.8 | ¢ 6.582 £ Thread M5i&fLHole: ¢ 4.2 - 12 |45 - 291|198/ 28| 16| 6 |5| - | -
20 M5x0.8 | XiiDouble side: ¢ 6. 58 LMEEF Hole: $ 4.2 [RifDoubleside: ¢ 6.585 & AHole:052| 14 | 4.5 | 2 |34 | 24 | — | 21| 8| 6 11.3 10
25 M5x0.8 | iiDouble side: ¢ 8.2925IM6E 7LHole: ¢ 4.6 WibDoubleside: §8.2845 8 Hole:062| 15 | 55| 2 |40| 28 | — | 3.1 |10| 8|12 |10
32 PT1/8 | MisDouble side: ¢ 8.28LM6E 7L Hole: $ 4.6 |[TihDoubleside: ¢ 8. 285 Hole:462| 16 | 55| 6 | 44 | 34 | - | 2.15/12]10[18.3 15
40 PT1/8 | MikDouble side: ¢ 10E5M8ELHole: $6.5 | WifDoubleside: ¢ 1084 @A Hole:482| 20 | 7.5 (6.5 52 | 40 | - | 2.25/ 16| 14(21.3 16
50 PT1/4 | RibDouble side: ¢ 114EEIMBEFLHole: $6.5  [WidDoubleside:¢ 1148AHole:065| 25 | 8.5 9.5/ 62 | 48 | — |4.15/20|17|30 | 20
63 PT1/4 | MibDouble side: ¢ 11ELMBEFLHole: $6.5  [RilDoubleside:¢ 11508 Hole:485| 25 | 8.5 |9.5| 75| 60 | - |3.15|20|17[28.7] 20
80 PT3/8 | MiDouble side: ¢ 148BEM12EF L Hole: $ 9.2  |TiDoubleside: ¢ 1484 EAH0k:0123 | 25 |10.5| 10|94 | 74 | — | 3.65| 25| 22| 36| 26
100 PT3/8 | RiliDouble side: ¢ 17.58 LM 14587 Hole: ¢ 11.3TdDoubleside: § 17 5E8 & ok 9142) 30 | 13 | 10 [114| 90 | — |3.65|32|27| 35| 26

2.048




